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Kruis het goede antwoord uit de tafel van 10 aan
ST LELES

3x10=

30/(50) 60/ 100

7 x10=

30)(20)(70) 100

7 x10=

13.

6x 10 =

100/30)(60) (40,

17.

2x10=

100/20)(50) (30)
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2.

9x10=

7 x10=

70/ (60 100/ (50,

10.

5x10=

14.

7 x10=

10)(60)(70) (80,

18.

7 x10=
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3.

2x10=

20/(30/(50) 10,

5x10=

11.

5x10=

(50,40, 10070,

15.

7 x10=

150,100 30 70

19.

10x 10 =

70,60, (80, 100

4.

5x10=

5x10=

12.

7 x10=

100/70)(10) 60,

16.

9x10=

20.

9x10=
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3x10=

20/(50/ 60, 100

7 x10=

302070/ 100

7 x10=

7020 (50, (30,

13.

6x10=

10013060, (40,

17.

2x10=

100/20)(50 30,
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9x10=

020, (40, (30,

7 x10=

70/ 60, 10050,

10.

5x10=

50)(20)(90) (20,

14.

(x10=

SOICORDIC)

18.

(x10=

30/(50)(70) (20,

Kruis het goede antwoord uit de tafel van 10 aan |
ANTWOORDEN

2x10=

20/(30/(50 10,

5x10=

202070 (50,

11.

5x10=

'50)(40) 10070,

15.

7 x10=

'50,(100/30 70,

19.

10x 10 =

70,6080, 100

Tafels

5x10=

20,7050 (60,

5x10=

403050 (20,

12.

7 x10=

10070/ 10 60,

16.

9x10=

20)(10)(20) (60,

20.

9x10=

(10)(s0)(60) (70,
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